Conflict and Tension
Key:
Treaty of Versailles
League of Nations
Causes of WW2
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	Specimen
	Study Source D. Source D opposes Germany. How do you know?
-Giving him Rope

	Study Sources E and F. How useful are Sources E and F to a historian studying opinions about the Treaty of Versailles?
-Clemenceau as a vampire
	Write an account of how events in Manchuria became an international crisis in the years 1931 to 1933.
	‘The Nazi-Soviet Pact was the main reason for the outbreak of the Second World War in 1939.’ How far do you agree with this statement?


	Add. Specimen
	Source D is critical of the League of Nations. How do you know
	How useful are Sources E and F to a historian studying the Abyssinian Crisis?
	Write an account of how problems relating to the Sudetenland led to an international crisis in 1938.
	‘The main reason why Germany hated the Treaty of Versailles was because of its military terms.’ How far do you agree with this statement?


	2018
	Source A is critical of the Versailles Treaty. How do you know?
-Peace and Cannon Fodder
	How useful are Sources B and C to an historian studying the causes of the Second World War?
-Munich Agreement
-Nazi Soviet Pact
	Write an account how the remilitarisation of the Rhineland increased international tension.
	‘The main reason why the League of Nations could not stop aggression in the 1930s was because the USA was not a member.’ How far do you agree with this statement?


	2019
	Source A supports the return of the Saar to Germany. How do you know?
	How useful are Sources B and C to an historian studying the League of Nations?
-LoN Recruitment Pamphlet
-Lytton Report

	Write an account of how the aims of the peacemakers after the First World War led to disagreements in 1919.
	‘The policy of appeasement was the main cause of the Second World War.’ How far do you agree with this statement?


	2020
	Source A is critical of the Munich Agreement. How do you know?
	How useful are Sources B and C to an historian studying the remilitarisation of the Rhineland?
-Locarno Pact
-Goose entering Rhineland

	Write an account of how events in Abyssinia in 1935-36 affected the League of Nations.
	‘The payment of reparations was the main reason Germany objected to the Treaty of Versailles.’ How far do you agree with this statement?


	2021
	Source A is critical of the policy of appeasement. How do you know?
-umbrella cartoon
	How useful are Sources B and C to an historian studying the Treaty of Versailles?
	Write an account of how the Nazi–Soviet Pact led to war.
	‘The main reason why the League of Nations failed was because of how it was organised.’ How far do you agree with this statement?


	2022
	Source A is critical of the League of Nations. How do you know?
-cartoon Manchuria – the doormat
	How useful are Sources B and C to an historian studying the policy of appeasement?
	Write an account of how the League of Nations contributed to international peace in the 1920s.
	‘The loss of territory was the main reason why Germans hated the Treaty of Versailles.’
How far do you agree with this statement?
Explain your answer.
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